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(1) (#*+1)(5°+4) — (zy+2)* = (az+by)* DL &, Ea,bDEFa=[7] b=
THB, kEL, a>02T 3,

(2)2<m<5,f1<y<3®&§, z—2y D&Y 5 HEOHEIZ, <x—2y<
-t‘\%éo ‘.
(3) Wiy = 2> +az + b DY T 7 DIERDEEREH (——;—,1) De &, Efa,bDIE

a=[4] o=[#]TH2,

(4) AB=3, AC=4D AABCIZBWT, A#5BCATALAERAH DEXA
2 ThHNIE, sin/B=[*|ThHY, AABC DIMEMOERI[Z|TH3,

(5)a<br ¥ 3. 4DDMENPSEET XK 2, 4, 6, b OFHIENS, EPEME#‘%’G

HniZ, a=[7] v=[2]cs5,

(1) #8a, b A, g’”l" + ﬁ:i —6 zWiTEE, a=[¥] b=[>]TH3,

(2) 2FBR22+3+a=042=-1%MHDOLE, EMaDEiFa=[R]|T
Y, b5 00tz =[x|TH3,

(3) 2By = —2°+3z+k (252 <2) DRAMEIX1THD, ZDLE, FH
kDR E=[V]|ThY, BMER| Z|THE,

(4) z =sinf (0° < 6 < 180°) »%, 2GR 22° 432 -2=0 OWTHB L &,
o=[7], [V] c»a.

(5) 3DDMENBRBF—X —1, 1, a OFE[T|TH 2, a NEBDHEEH<
LE, F-ROKEIBNLED aDERa=| | THB,

0<z<123 3, 4/50(0,0), A(L,0), B(1,1), C(0,1) »57% 3 EJH OABC @
LOA, AB EIZZNENP(z,0), Q(1,z) % £ 3. ACPQ DEH S & APAQ DEM
T ORI, S=[F]-THEIEID, Tz EAVTERT LT =[=|Thahs,

So=[RX|orERheid, 2OLEDSDER[R]|THE,

AABCIBWT, AB=6, BC=8, CA=42%5, cos/B=[/|Th5, i
BCOHREM LTS, AM=["]|THY, sin/BAM=[t|Th%, LWAM L
CEP%, AP=2PM %3 %5itk3 %, AABP DERR 7| Th 2,




